
^�
�	��� =�	�� � ��	�		V���
"����#��� ���
$� DIN 6366

����� %���� #�� ������ d3 a
401-101 ATR.D13                       28 10

ATR.D16                       32 10
ATR.D22                       40 12
ATR.D27                       48 12
ATR.D32                       58 14
ATR.D40                       70 14
ATR.D50                       90 16

^�'����: ;��� 
� DIN 6367

����� %���� #�� ������ ��� d2
401-103 VTC.M6                       13 17

VTC.M8  16 20
VTC.M10        22 28
VTC.M12   27 35
VTC.M16   32 42
VTC.M20   40 52
VTC.M24 50 63

^�'����: ��Z= 
� DIN 6368

����� %���� #�� ������ _���
401-105 SP13C                         M6

SP16C                         M8
SP22C                         M10
SP27C                         M12
SP32C                         M16
SP40C                         M20
SP50C                         M24

-  12.1  -



^�
�	��� =�	�� � ��	�		V���
^�'����: ;��� #�� \�������� 
�������

����� %���� #�� ������ ��� d2 ex
401-107 VTF.M6   13 17 5

VTF.M8   16 20 6
VTF.M10  22 28 8
VTF.M12   27 35 10
VTF.M16   32 42 12
VTF.M20   40 52 14

����� %���� #�� ������ �
����� D
401-109 VTR.M8   16 20

VTR.M10  22 28
VTR.M12   27 35
VTR.M16   32 42
VTR.M20   40 52

����� %���� #�� ������ �
����� d2
401-111 VTS.M8   16 20

VTS.M10  22 28
VTS.M12   27 35
VTS.M16   32 42
VTS.M20   40 52

ex

d2

d2

-  12.2  -



^�
�	��� =�	�� � ��	�		V���
�V���


����� %���� #�� ������ b x h x l
401-115 TTR8  (D13-16)     8 x 8 x 14

TTR10 (D22)          10 x 10 x 18
TTR12 (D27)          12 x 12 x 18
TTR14R (D32) 14 x 12 x 22
TTR14 (D32)          14 x 14 x 22
TTR16R (D40) 16 x 12 x 21
TTR16 (D40) 16 x 16 x 25

^�'����� ����� � 
�����V Weldon

����� %���� #�� ������ L

401-125
WE.M6 x 10                  10
WE.M8 x 10                 10
WE.M10 x 12               12
WE.M12 x 16         16
WE.M14 x 16  16
WE.M16 x 16          16
WE.M18 x 2 x 20  20
WE.M20 x 2 x 20  20
WE.M24 x 2 x 25  25

WE.M14 x 10 10
WE.M16 x 10         10

WE.M18 x 2 x 12 12

^�'����� ����� � 
�����V Whistle Notch

����� %���� #�� ������ L

401-127 WHN.M6 x 10                 10
WHN.M8 x 10                 10
WHN.M10 x 12               12
WHN.M12 x 16               16
WHN.M14 x 16               16
WHN.M16 x 16               16
WHN.M18 x 2 x 20          20
WHN.M20 x 2 x 20          20

TCB + BTB40.H60.WE25

WE32-40
WE50

TC + BT30.H35.WE16

TCB + BTB40.H70.WE32
TCB + BTB40.H60.WE25

8WE.M16 x 1 x 8

WHN6

WHN20
WHN25

WE12-14
WE16-18
WE20-22

WE25

WHN32-40

�
�$���
��: ����

Whistle-Notch

Weldon  

WE10

WHN16-18

TC + BT30.H35.WE20

WE6
WE8

WHN8
WHN10

WHN12-14

����#�����: ���� DIN 1835/B

DIN 1835-B

-  12.3  -



^�
�	��� =�	�� � ��	�		V���
��	
����� ���
$� #�� ���;����������� 
�������

����� %���� #�� ������ d1 x L d2
401-135 SC16.1 16 x 1 27

SC16.2 16 x 2 27
SC16.3 16 x 3 27
SC16.4 16 x 4 27
SC16.5 16 x 5 27
SC16.10 16 x 10 27

SC22.1 22 x 1 34
SC22.2 22 x 2 34
SC22.3 22 x 3 34
SC22.4 22 x 4 34
SC22.5 22 x 5 34
SC22.10 22 x 10 34
SC22.20 22 x 20 34

SC27.1 27 x 1 41
SC27.2 27 x 2 41
SC27.3 27 x 3 41
SC27.4 27 x 4 41
SC27.5 27 x 5 41
SC27.10 27 x 10 41
SC27.20 27 x 20 41
SC27.30 27 x 30 41

SC32.1 32 x 1 47
SC32.2 32 x 2 47
SC32.3 32 x 3 47
SC32.4 32 x 4 47
SC32.5 32 x 5 47
SC32.10 32 x 10 47
SC32.20 32 x 20 47
SC32.30 32 x 30 47

SC40.1 40 x 1 55
SC40.2 40 x 2 55
SC40.3 40 x 3 55
SC40.4 40 x 4 55
SC40.5 40 x 5 55
SC40.10 40 x 10 55
SC40.20 40 x 20 55
SC40.30 40 x 30 55

DIN 2084

-  12.4  -



^�
�	��� =�	�� � ��	�		V���
"��	
�	�;����� #�� =�	��� ���V	�
<
��#��� 	�����

����� %���� #�� ������ ���V	
401-140 TCL1.MT                        Morse 1

TCL2.MT                        Morse 2
TCL3.MT                        Morse 3
TCL4.MT                        Morse 4
TCL5.MT                        Morse 5

TCL30                         SK30
TCL40                         SK40
TCL45                         SK45
TCL50                         SK50

TCL40.HSK                    HSK40A
TCL50.HSK                    HSK50A
TCL63.HSK                    HSK63A
TCL80.HSK                    HSK80A
TCL100.HSK                   HSK100A

����� %���� #�� ������ ��	. Taper
401-143 TCL63.EX 1 HSK63A

TCL63.EXH 2 HSK63A

"��	
�	�;����� #�� =�	��� 
�������
#�� $��� ��
�  ER

����� %���� #�� ������
401-145 TCL.ERC11

TCL.ERC16
TCL.ERC20
TCL.ERC25
TCL.ERC32

"��=��� 
��	������� ���	��V�$��, �=�	�����
��� 
���	� V	��:=��� � ����	������Z

�

�

?����
ERC11
ERC16
ERC20
ERC25
ERC32

 $��. 1  $��. 2

-  12.5  -




